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(Ans.)

L _
180 4(2n+3)(2n+5) 6(2n+1)(2n+3)(2n+5)
02. SHE 39 8 32X° —48x> +22x —3 =0 T TS A SR |

Sre: 4, e a—b,a,a+b . a-btatatb= 48 _3 _ 4,3 .,-1
32 2 2 2
R a? — ab +a® +ab +a*— b’ = 22=11_—_>b2=331_“=3._“ b=+ l
32 16 16 4 16 4
1 1 1 3 1 1 3
La—-b=———=— a+b== . @t —, —, — (A
TTPT T4 8b=g LA TN 2 5 . AADE)
03. &t Fa e 2tan” | a_btanl—a-ﬁ%—cns'lb-l-amse
' L& Va+b 2 a+bcosd
FagiE: LLH.S = 2tan "« a-b tan—q}
k a+b 2
( ?sinzﬁ\ﬁ
1 ( a~b] ;
Lk ) \
a+b CDSZE acaszg+bcnszE—asin29+bsin29
_ -1 2 | _ Ancd 2 2 2 2
= coS = COS
. 39 29 29 - 29 . IB
(a—b)sin” — acos  —+bcos”—+asin” ——bsin“ —
14 % \ 2 2 2 2 )
(a+b)cos’ —
\ 2
2 0 b\
AcCOSLX—+ b+ 0
= coS~ 2 |~ cns_l( EGDS ]=R.H.S (Proved)
a—t—b.cnsz.i a-+bcosO
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04. @ 72 sHAEIE TR A A y+x+/3 =1 T @R MY 60° @ Teoy @ @k W (6,—7) B
fac T

FTY: 4, TEER T/, Y= MX +Cuvrrrnne oo (i)

(6,—7) R =1, —7 = 6m +c.......... ... (ii)

WM, y+x+/3 =1 m, =—/3

tan @ =+ V3== m + /3 (+)ﬁmm=0
14+ mm, 1—+/3m

("') 1Eﬂ'-ﬂ-m 1]'1=-J§, m=0 T, c=-7
m=+/3 T, c=—(7+6ﬁ)

(1) RQ c YT YR m G AT T 13,

05. (3, -1) /g aew sl a6 x e (2,0) Rees = sa eioa stitesd (9 <1 | =iy ey =t
woiE =Pty e T 99 | |

AT uﬁ,mﬁw, x2+y2+2gx+2fy+c=0 ﬁ%x_wmpfw’ .'.g2=
(2, 0) Reges =i =3t = (2)° + 0% + 2g (2) + 2f (0) + ¢ =0

y+7=0
y=+3x=(7+643) (Ans)

=4+4g+c=0=>g’ +4g+4=0 = (g+2)’=0 .. g=-2..c=(2)*=4
(3,- 1) e ren vvm@ = 9 +142g(3) + 2f (-1) + ¢ =0
10+6(-2)-2f+4=0 ..f=1 -, 06T AR, x° + Y - 4x + 2y + 4 =0 (Ans.)
ﬂﬁﬁﬁﬂrﬁ“ﬁ‘f@ﬁfﬂﬁﬁﬁy—m=ﬂﬂﬁﬁ@,—l)uﬂﬁiw=\/g2+fz—c-—-1.
so-1l-2m _ . = m’+ 1 =4m’ +4m+ 1 = 3m’> +4m =0 _-_m=_4 m=0

m? +1 3
m=0 2 =piF, y=0 TWana| . =i s, y+§x=0 — 4x +3y=0 (Ans.)

06. <) log. (xy) =x"+y* T, :y 7 I a0
X

)y = (cos™ 397 o0 x, (1Y) yrxys =2
g F) loge (xy) =x° +y° = logex +log. y=x*+y* = 1 1dy

—, dy 1-2y* ] 2x?-1) . dy _ y 2}( —1 (Ans.)
dx| vy X dx ~2y?
FtgE: ¥) v = (cos” x)* = y;=-2cos"'x L (1-x*) yf =4 (cos™ x)* =4y

V1—x?

= 2y1v2(1-x3) = 2x 7 =4y, . (1-x*) y2 —xy; =2 (Showed)

1 dx 1 dx X
07. = ', —_ dx
)J-(:-:—I](x +1) J-(:-:—-l)jL J-(z«{z+1) J-(x2+l)
AL ifﬁ', X = llﬂ(}( 1)+ltﬂﬂ J{——I
(x-DE*+1) 2 2 (x +1)
- _A _ Bx+C | = e+ L tan x——ln(x +1)+c (Ans.)
x—1. x+1 2 2

fx=A X +1)+ (Bx>-C-Bx+Cx) 0x’+x=(A+B})x*>-(B-C)x+A-C
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X* 3T Teige T AR, 0= A+B . A=-B
X o e ¥ AR, —(B-C)=1= B=C-1

) }’2 =]16x R y=Xx BEl ANET CFad CFaTe] $O7

o v’ =16x
TN <) G = J.(cl\/;)—x)dx = x (x-16) =0
, ; ~x=0,16
=4[§-) [xm' :}6—5 xz]f =§:-«:64—-;%(j :%8- < @3¢ (Ans.) |
08. ABC faste BC, CA, AB g <19 914 qaia P, Q, R T o fergrera ARGFEpiis | o 9 &,
PcosA +QcosB+ R cosC=01 % (ZCOD = ZA I
TE: O @3 cafts TN e A1E, ZCOE=4B
P.OD+OE.Q+OF.R =0 ZBOF = /C
= p (rcosA) + Q (rcosB) + R (r.cosC) =0 P 9T G = }—Kt’i"ﬁﬁ et
. PcosA + Q cosB+ RcosC =0 (Proved) o 2 4

09.* 36 kg @7 36 387 T & AR 3= vt e 1 R @31 @ 951w 15 .57 3 =i

15x1000 5x10 25 Av 25 J 2
= =—m/s .. 999, a=— =—m/s

3600 12 6 t  6x60 72

S 96, F=ma =36x%=2.5N (Ans.)

W:ﬁ‘fﬁﬁﬁ=

10. @30 g 4 & 5w, 5 6 & @3k 6 6 5@ 94 Mg | ©f e f6qib 997 tqaifie Soiiey W4ifoe w1 ze7 | 216 <=
MEFSESIERSISEINSERE N
STRIYI: (N6 5 72T (4 + 5+ 6) = 15

2 A TR-9) 2D @ ogm a 1o smi= A 2V = sigem @I 1 G e = B
& 4 6 5

CE:-{ C,+ C;'ﬁx C1:]2+15=_2_7 (Ans)

G, C, 91 91 091

. e

11. «@=f 777 wed &7 20kg @< &It 60 kg S @ 98 YT @ @€ =0 40cm T 1 e (T80 ©f 799
) BT e SE A TR I | 7o v 97

P(AWB)=P(A)+P(B) =

ster: €, AO =X, (O, AB <7 T4) 3
40cm C
WT‘ETIﬁ, 60 =E ::?60:}{—40 A ‘ﬁ' O B
x—40 40 20 40 |
— 3% 40=x—40 l #&gl
—x=120+40=160 60 kg 20 ke

;. e 7 AB =2x =2x160cm =320cm (Ans.)
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12. %R o e 1.5km Tta g «Afmer T wng | @ o W G et - 1x10°m? 3 1em
TORGI AlF B FACS #ITT | TF AT (T ARIS Fare 0 e Fare B2

r: V =10° x 10”°m’ = 10°m’, h=1.5km = 1.5 x 10°m , m=pv=(10"x10*)=10" ke
Toare, W=mgh = 10"x 9.8x1.5x10* =14.7x 10'%J (Ans.)

13. 100°C =@ 600gm BN ¥aige =¥ 20°C Semas «fHce #fie 29a9 55 T S 6« Fae 2@? Aifm
AT STwifFs 8 orr 2.26x10° Joule/kg @3 siifa SiTstfErss stst 4.2x10° Joule/K |

TR (6 IfEe ot = me, e 0, =226%x10°T/kg
=m[(, +5sA0] | s=4.2x10°J/kg/k
= 0.6 [2.26x10° +4.2x 10> x80] =1.5576x10°J (Ans.) A9 =(100-20) =80k

14.* @3 AR offT 480m/sec (I T TG WS A | I o e 2o iy eraee s 7 3 It of
e =9 1 0T 9 ofeT '@ 7 <@ STeARI et afmet R | [FRE SR e, s = 125.61/kg-K]

sy Given , v =480ms™

s =125.6Jkg"'k™
According to question, Heat released=heat absorbed
1 v’ B (480)*

=9172k (Ans.)

= —mv’ =msA) =0=—=
2 2s 2x125.6

15. 0.05mm sFF-Friacs s (dielectric) BT Tz F@ 1uF 49&0es G316 FTAEAE < 4% tof
2 | G G (0.2m FIEE FA0 AT o] SiPred LTI 20F Of (@9 99 |

(SIS 2} Agfes &< =4, €, =8.9 x 10" C/N —m? 1)

Y (Redt Sitg, C=1pF = 10°F 4f¥, x & oiefe v
2 -2
r=2x0.2m=0.Im @=2S % | EXTXEXIXBIX10
2 d 5%10~°
e=e,xk=4¢, S X=447T =x=45
d=0.05mm = 5x 10”°m g 45 & orefea waF@ | (Ans.)

16. oo 4ratsa gy U 3uF, 2uF g 1pF atig fGeln ¢ sonfiee eiflared wifeer euwa sy
MGARTSIE Y& 41 A 997 YTy AT o7 |

1 1) (1 \' 2
ST: (et |g, C=3uF a, C=| =+ =5+l =3
R, C1=2H (Cz CJ [2 ] 3

C;=2uF, C;=1pF © C =C +Cs=3+ ; = 131 UF (Ans.)

17. @36 AREET 5l &fe Gt 9 9 9 | iFfeibre Fob oy T4t uft woo HZe/Ges Ty aIH
*HIANH 7 ¥ A &S Gree © o /0 Ty 97 |
TAYI: LT BIFS S TAF A 1 = 300 + 6 = 294, 306, eq AME =n="7

T, mxn=294 =>m=42 mxn=306 —=m=43.7 Ans
;. BIfere fag 7R = 42 B 1 (Ans.) [m = fam 57T, n = g w1eaim]
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18.* G giew w1 Rfe 45° | afy wureet 2re Rl gram oo 60° gfia ol T Sizee weire RAfe Fe7
ST o RS § @ Setre RS & .'.tan8=%,tan8'=%
1

. tand H H 1

=— = = =2
tand H, HcosO cos60

9T H) = HcosH, 6 = Rpyfs e = 60°

Sotand =2tand .8 =tan~'(2xtan45) ; &' =63.44° (Ans.)
19. Scm % 36 380 30cm T e RAE a6 S wof @tF 1Scm W e T4 =7 | [90e S9g,

GBI S AP 39 4 | '=m/ =10cm
W:Wﬁﬁ, l=l—l m=3=ﬂ=2>]
- v f u ul 15

1 1 _1-2 1

S ¢ wofd 20e 30cm A=

T30 15 30 30
- v=-30cm AF® ¢ AARTI Siww ¢ [/]fEe (10cm) | (Ans.)

20. 0.4m GFRT FHUST G2 B&T @ GR 0.60m CFIFRT TAPH G35 TS G 7=t A0 (e G F
(T 5157 0T | @ TR 2.4m A SIta STovel Bof qf6 T A oty | eifSfives sage i 54 |
JagE: £, =0.4m; f, =-0.6m

1,11 g 1.1
F 1 f, F 04 0.6 =>v=( uF J=2.4x|_2 — 2 4m
0.4%0.6 u-F/) 24-1.2
~ (0.6-0.4)

F=1.2m & JN3IEa @ A0 7198 g ©iF o[ ot 2.4m 79 |

21. 9.2gm SrENIEEEH Ik Wit HCl @7 Rifwamy 27°C Sremmn @3r 750mm sicst 7 s B3 CO, sitewr T
(ST STsTan @ Bitst CO, @3 Ty 0.002gm/cm’) |
sty Szt (CaCOs + MgCOs) = 184 gm; 184 gm S *Medll I 2x22.4 CO,

22.4%9.2
279C ITot 9.2gm TT AT T 13:9 L CO,=224L CO,
PV, PV, 760x224 750xV, _ 501 (An
Wﬁ'ﬁ — — = p— = Z. S,
PTT T, 273 300 ’ (Ans.)

22. 1500 cm® € 2000cm’ «¥ G5 <@ IAG 750mm ¢ 100mm ST Hy @ O, TP 41 70 |~ 72w
ST @9l 20 RS ANTE (o B F9?
sriye: Py = 750mm B9, P; = 100mm 519
V, =1500cm3, V3 = 2000cm’

V =3500cm’, P =7
b PVi+RV, (1500% 750) + (2000x 100)
V 3500

.r N £
Emw SEEEEUNS

=378.6mm (Ans.)
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23. o= qrgea | e

1 2 3 4 5
(a) CHs — CH = CH—CH—CH;  (b){O)—COCH;
CHj;

0
2

4 3 1 3 2 1
(c)CH, =CH— C - CHj4 (d) CH — CH — COOH
NH,
(e) 3Ca(H2P0,): (f) FeSO4 (NH4)2 SO4. 6H,0
SarYr: (a) 2-FiEs oifox-2 (b) = 1=e AT (c) REB -3 —-FT—2—a7
(d) 3-SUIEAT @MHEIRE affre (e) Gom o et (f) oneEe =19t

24. 2.4gm FeSO, ™ H,SO, Tt wife® T9ts 39 A KMnO4 =15t sto=t <4 |
Fane: 10FeSO4+ 2KMnOy +8 H,S04 — K2SO4 + 2MnSO,4 + 8H,0+5Fe, (SO, ),

5x151.85gm FeSO,4 93 &=y w9919 158gm KMnO,

158x2.4
5x151.85

" 2.4gm FeSO, 97 577 w3l =0.499gm = 0.5gmKMnO, (Ans.)

25. R Mo Seme SEReeetats 7w e g
(2) (RIM THSTS ST BT (b) = geEite HySO,4 S=AMT
(c) ST “mfors HNO; Seoime (d) SIS SeAweT
(e) =fER" Teoimts (f) 216 o A& SeTEITs 2T FHamReime
FAY: (2) W96 — Fe of (b) H2SO4 — T& =032 A V,05 3 Pt
(c) HNO; —Pt — Rh 3¢9 | (d) ©reTer —Ni.
(e) “fERF—>TT b1 “Awfo-SRAEm I W ARHRT 77 1% *75-Cr,0;3 wSice Fiffsm suime Som TR = 1
ST, DIRDIAAINS Gioe 4197 (@15 |
’ (D) A E— ST, W0, TR |

26. 0.59W IR 4o 2000 A M= SrE@r 24°C R 26°C e 31 =1 | I v o ia $o7
FraE: We know, Q = msA© My =12  s=-iffa=igsr = 42007 kg™ K’

~.Q = 2x4200x(26-24) = 16800J. m = 2kg
-, T vy oot = 1080012 _ o2 047 (Ans.)
27. T el efe Ages fords
(2) Sn2eT [ (b) 23T QFTEEE (c) B.f6.% (D.D.T)
(d) 5,97,6 (T.N.T) (e) 1-Gpitat-2,2-SIRfRIEe (=TT |
CHj
l
sngts: (a) CH; — CH — CH, — OH (b) CH3- COO — C,H5
Cl
H, -
ct NO, NO, N
(c) Ci-¢=c-1i (d) (©) CICH~¢~CH
Cl
NO, CH;
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BUTEX engmess ¥

28. Tora stz Rt fr s

R

_f}

(2) e 22 @i @fire
(b) Frem 23re Zeiger st

(C) (AR SHICHIRT ZCS WA STeCantaeT |
MEILIEH
CH3j COOH

A4 3[0]
(ﬂ)[:]+CH Cl @ =©
3 AlCl3 } KMnQ, +H20

2H,0

A
(b) CH, + Cl; — CH,Cl oo CH3CN T CH3COOH =2 €l CH,0H + H,0

[I1]

(c) CH;CH>CH-OH —79°C . ~n _cH =
3 WHZSO_; ;—CH=CH,

CH3 —CH = CH,; + HBr —» CH3 — ?H - CH3
Br

CH;— CH — CH; + NaOH (aq)— CH; - CH — CH; + NaBr

Br OH
e seEfRe et of v e
CHs
(a) (CH;CO),0 +HN\  —— .....ccccceceeeet CH3COOH
CH,
@_ SnCl, HCl
(b) NECI + 4[H] 'Ei"} ............ +
NaNQO,
(c) CoHs — NH; + ........... —— CHOH+ o e +H,0

(d) (CeHsCOO); Ca—>......... +CaCO,

(¢) CH;COCHj3 + PCls —> ......... + POCl;

(f) CH; CONH; + KOH + Br, —
A4
NH-NH2

H;

C
(a) CH;CO- N< (b)
CH,

(c) HNO2, N2 (d) CgHs—CO —CgHs

Cl

| (D CH;NH; + 2KBr + K,CO3 + 2H-0

Qe §

(3) ch - (I: T CH.’:’
Cl




, &
30. Fonre Rz anmfe sy & i -
(a) caitfom (b) ferr wfem frres (c) f&. @.q P
(d) W=, 97, @, i (c) 97EnRy (f) o |
TR (a) BT 8 BT 2 “AfFTrBiRe T | @3 wga (1513s PR O3 dite  3f- NH, T8 932 Se
AE -COOH < 9T |
(b) Rftra s M ¢ g sifzs 2 sifamret TEL, @61 frider e (TML), SIEeH S@6+ Fe (CO)s
oW T @ I 9B R = |
(c) D.N.A 571w ¢ D.N.A =1 e aidwr Fefretize Bemm st sifve afta fRefee afe | a3 B D-2
e | Wi 515 sesge wigfew B-D freamre wr@t #if$e = 4t | D.N.A @9 T0- Pyrimidine |
base-9 FARGIFF 8 AR ATF | 99 Purine base 3 ufef =, o= 4T | i
(d) R.NLA Fi1g 3 9131t Fefge ufie a3z g9 B Somimate D-A3E & Pyrimidine base-a 1261
8 REA7e U Purine base @ @fef e ¢ onifim A |
(€) av=3 ¢ (& fferar susFRee e ReiE goEe @i | am eore far arfe e s
ST [NSTRe | (AT ¢ GTEILeTlST, NCoTS, ITORIoS SRS 2971 |
(f) G ¢ Glucose aFFd GIo C| FATX A=A T Cy, B- ARFHIRNCT IFT 711 W7 I0H CTLITST Fe

foieeT 107 90 | TeEETs W@ e (B-D Glucose) @I |

31. Rewrite the following sentences using right form of the verbs given in the brackets.

a) The color of his eyes (be) blue. Ans : The color of his eyes is blue
b) I had my rice (cook) Ans : I had my rice cooked.
c) He (to return) home just now. Ans : He has returned home just now.

d) As soon as he (to buy) a new house, he will leave the old house.
Ans : As soon as he buys a new house, he will leave the old house.
e) The sun (set), they went home. Ans : The sun having set, they went home.
32. Translate into English:
(a) T=at 3f2 Tz~ It is drizzling.
(b) @It #tG ¢iFre — Please, read out the poem.
(c) G1 49 7= f&=, w1 Atz He was very honest, wasn’t he?
(d) @47 ¢t w51 ATe-1t is quarter to ten.
(€) ST GIRITT A|E 4 &7 1 had an appointment to go there.
33. Fill in the gaps :
a) Her face was bathed with tears.
b) It relieved me from/of the aebe.
¢) His quality must be apparent to an idiot.
d) He was proved right to that point,
e) A happy smile spread over his face.
34. Write a paragraph on 'dengue fever' [Try Yourself]
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